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Instructions

In the PHYSICAL GEOGRAPHY section only answer ONE

question from a choice of:

1. River Environments
2. Coastal Environments
3. Hazardous Environments.

In the HUMAN GEOGRAPHY section only answer ONE

question from a choice of:
4. Economic activity and energy

5. Ecosystems and rural environments
6. Urban environments.



PHYSICAL GEOGRAPHY

Answer ONLY ONE question from this Section:

Answer either:
1. River Environments OR
2. Coastal Environments OR
3. Hazardous Environments.

Question 1: River Environments

1 River environments

(a} Study Figure 1 which shows two storm hydrographs (A and B).
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(i} On Figure 1, draw the precipitation bar for 1 to 2 hours from the start of the
stormm whien 10 mim of rain fell. -

(i) On Figure 1, complete boxes 1, 2 and 3 by correctly using three of the

following labels:
g !
peak discharge lag-time

urban area hydrograph wooded rural area hydrograph
b -

3)

(i) State two ways in which hydrograph A differs from hydrograph B. -
.
A

(iv] What is the discharge of a river? @

iv) Describe the fiekdwork techniques you would use to collect data about a

river’s discharge. i5)




ib} (v Give one change that flooding brings to a nver’s valley.

1

i) Suggest why flooding s more likely to occur in wban areas than wooded
rural arezs. Figure 1 may help your answer.
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Question 2: Coastal Environments

if you answer Question 2 put a cross In the box [J.

2 Coastal environments

(a) Study Rgure 23, a sketch map of part of the coastline shown in the photograph,
(Figure 2b).
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it On Figure 2a, complete boxes 1, 2 and 3 by comrectly using three of the

following lakbs=ls:
-
shelterad from prevailing s2a winds clifis
L groynes spit
3
(i) Name a type of coastal landfiorm shown on Figure 2b that was formed by:
2]
1. erosion
2. deposition
ib} There is longshore drift along the coastline shown in Figure 2b.
(il What is komgshore drift?
2)

for your answer.




ich i

Hame two methods of coastal protection being used along the coastiine
shoram in Figure b,

2)

(i} [For one of these methods, eaplain how it redweces coastal erosion.

i4)

{iii) Describe the fieldwork techniques you would use to investigate people’s
oipinions on the coastal protection methods shown in Figures 23 and 2b.
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(d} Explain how headlands retreat to produce new coastal landforms. One or more
diagrams may help your answer.




3: Hazardous Environments

i you answer Question 3 put a cross In the box [J.
3 Hazardous environments

(a) Study Figure 3 which shows a weather systern over the Caribbean 5ea.

Flgure 3
(i What is the difference in pressure betwesn the centre of the system (A) and at
its edge (B)?
(n
(il 'Which of the following best describes the pressure at the centre of the
system? Puta cross in the comect box.
= High (|
=Mediom [
= Loy [H|
n




iiii) Complete the sentences by filling in the gaps using some of the words in the
o

(2]
Iy ™
=p typhoon
hsrricana wall
b, A
The weather system shown in Figure 3 is known in this part of the world as a
_________________ AreaAsknownasthe |

ibd (i Suggest how the weather in Haiti changed as this weather system passed
over the iland.
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ich (i) What is meant by the term natural disaster?
i2)

i how in LICs might be affected weather such
o i Fare 3 i e

12



id} Explain how people in HICs predict and prepare for one named type of natural
hazard.
(9]

Now move on to Section B
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Section B: HUMAN GEOGRAPHY

Answer either:
4. Economic activity and energy OR
5. Ecosystems and rural environments OR
6. Urban environments.

Answer ONLY ONE question from this Section:

4. Economic activity and energy

4 Economlc activity and energy

(a) Study Figure 42 which shows six factors (A to F) which attract high-tech

manufacturing imdustries
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(it Choose the factor (A to F) which each of the following is an example of:

1. motorway link to an intemational ainport

2. government support for business

Wite the appropriate letter, A to F, in each box.

(il 'What are raw materals?

(i) Manufacturing is part of which of the following employment sectors? Put a
cross in the comect bo

O primary
[ secondary
[ tertiary
O quatemary
iv) Mame a high-tech manufacturing industry.

(2)

)

15



ib} Study Figure 4b which shows the results of a fieldwork investigation into how the
mianagers of ten factories (A to J) ranked six factors when choosing their present

location.
Order of iImportance rank] to:
Car Raniking
Food processing | Electronics Factor
Locational factors CHmponent of Tactor
factories factories tactaries SLOre p—
B 1] F G| HI|T]]
Avallable road transport 4 | 4| 2 | 4| 411 1 1 111 3
Chosaness o markets 2 4 1 1| 4 2122 a6

Sultable labour at competithvewage | = | c | < [ g | 2| a4l 2| 32 |5/ a 41

Suiabie Dulidings and she 6 | 6|6 |5 |55 5 (4|33 48
Weamess to raw materials 3 .
Personal reasons 21 13|12 2| 6|6
1 = most iImportant factor 6= least Important factor
Figure ab

it  Complete Fgure 4b.
(2]

{ii} 'What condusions can be drawn about the importance of the various
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ic} Describe the factors encouraging the recent growth of tertiary and quaternary
activities in HICs.

17



id} Explain why energy effidency is becoming so important for many countries.

9
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5: Ecosystems and rural environments

If you answer Question 5 put a cross In the box [J.
5 Ecosystems and rural environments

(a) Study Figure 5a which represenits a rice field (padi) as an ecosystem.

Nutrient supply throwgh silt from Organic fertiliser
surrcunding catchment (ash, straw, manwure
and compaost) added

before imigation

Surface algae reduces cwygen concentration
and nitrogen level incraases

-{_Mutnents dissolved in water |- -\

Clay particles form a waterproof lining. Organic matter
gocurmiulates on this lining and releases nuirients

Flgure 53

it Which of the following best describes this ecosystem? Put a cross in the
correct bom.

1 small-scale
[ a biome
O natwral

(i) For this ecosystem, name:

1 on2input

2 one gutput

19
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Figure 5k which shows the results of a fieldwork survey of four
ing rice farms (A to 0} in south-east Asia

neig

ich 5t
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influencing factors for the four rice farms in Figure 5b on the

Flgure 5¢

ure 5c.

(i) Plot the yi
graph,
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fiii) Draw two conclusions from the evidence in Figures 5b and 5c.
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idy For a named country, describe the ways in which agricultural production has been
- . (9
Mamed country: . . . —
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6: Urban Environments

& LUrban environments

(a) Study Figure 5a which shows some developments taking place on the edge of the
city of Ouford, UK.

Boars Hill

3 a1 Fennngton

=

T

[] Wrban area

o 5 km

[D Port Meadow (housing development)

B Grzen belt Blackbind o .
|protected area; no development) @ ackbird Leys (housing development)

@ Owfiord United's new football stadium and

I Greenfield sites housing development
——— City boundary (4) Hinksey Hill (golf course)
{F) Park-and-ride schemes @ mmgwau.g{m
iexpansion of College sports grounds)

@ Choford science park (300 hectare site)

Flgure 6a
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(i} Name one location on the edge of the aty of Codford.

such as Chdord.

ib} Suggest how the use of brownfield sites may help reduce development pressures

on the edges of HIC cities.

3]
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ic) Study Figure 6b which shows the results of a land use and environmental quality
survey along a transect running from the CBD to the outer suburbs of a city.
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Figure 6b

{ii) Plot the Environmental Quality scores for the six sites in Figure &b on the

graph, Figure 6c.
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(i) What conclusions can be drawn from the evidence in Figures 6b and 6¢7

4
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idi For a named dity in an LIC, explain the management strategies being usad to
minimise the problems of its shanty towns (squatter communities).

Name of city: - - —

9]
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Section A: Human Geography

1) Study Figure 1 that shows the changing employment structure for South
Korea.

Figure 1
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a) Complete the graph using the data in the table below. Q)
Year Secondary Tertiary
2007 24% 68%

b) Describe how the employment structure has changed between 1982-2007.

3)




¢) Employment in the secondary (manufacturing) industry (e.g. the car industry)
in the UK has declined over the last 50 years. Suggest reasons why.

(4)

d) Isita problem that not many people work in the primary (natural resource
extraction) industry (e.g. farming, mining) in the UK any more?

(4)

e) Outline two factors responsible for the growth in the tertiary (service) and
quaternary (high technology) industries.

(4)




2. Study Figure 2 which shows the population change for a year in several remote
areas in Scotland.

Figure 2

E Ayrshire E Ayrshire

Dumfries & Galloway Dumfries & Galloway

Scottish Borders Scottish Borders

Orkney Orkney
Shetland Shetland
Argyll & Bute Argyll & Bute

Western Isles Western Isles

Highland Highland

-4 -2 0 2 4

% change in population

Source: Edexcel

a) Which area increased by the greatest population size?

(1)

b) Suggest reasons why some areas grew in population size whilst other declined.

(4)

c) Outline some of the social and economic impacts of the population change in
Argyll & Bute.




(3)

3. Add annotations to the template below to help answer this question: Why do
so many illegal migrants currently located in Calais want to cross the English

Channel into the UK? (6)
Physical Economi
Factors Factors

Political Social
Factors Factors

End of Section A: Total out of 30




Section B: Physical Geography

1) Study Figure 3 which shows Household Water Use in the UK.

Figure 3
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Water use
Source: Essential Mapwork Skills 2 by Simon Ross
a) Complete the chart for Toilet Flushing using the data below. @
Household water use %
Toilet flushing 25

b) Name two other water uses not shown in figure 3.

)




c) The data in figure 3 represents a High Income Country. Justify this statement.

3)

d) Why is it that some parts of the world do not use as much water per person as
that used in the UK?

3)
2) Study figure 4 which shows the rainfall distribution in the UK for 2012.
Figure 4
I Finfall hat northieet Scotand

% of 1981-2010 Average

received in 2012 compared to the
1981-2010 average.

(@)

© Cromn copyright



b) The amount of rainfall varies from year to year. Offer an explanation as to
why the UK’s rainfall was higher in 2012 for much of the UK.

(3)

c) Rivers are very exciting during times of high rainfall. Describe two
physical landform features that they may create due to such high rainfall
conditions. A diagram for each may help you.

Landform 1:

(4)




Landform 2:

(4)

d) Canterbury is located in the southeast of the map (figure 4). How much
rainfall did we get in 2012 compared to the 1981-2010 average?

(1)

e) Canterbury only gets about 650 mm of rain per year, whilst Wales gets
anything up to 2,500 mm per year. Why?




3)

3) What natural hazard do you think the UK is most at risk from, and why?

(4)

End of Section B: Total out of 30
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